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If you are given 2 sides and an opposite angle in a triangle, there are many scenarios to consider.

If £A, a, and b are given and £A is acute, there are 4 scenarios to consider:

If ZA is acute and a < h, no triangle exists. If ZA is acute and a = h, one right triangle exists.
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If ZAis acute and.h < a < b, two triangles exist.
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If £A, a, and b are given and £A is obtuse, there are 2 scenarios to consider:

If ZA is obtuse and a < b ora = b, no triangle exists. | If ZA is obtuse and a > b, one triangle exists.

ist for the same given information. This means,




Example 1: In triangle ABC, side a =12 cm, side b =17 cm, and A = 21°. Find the measure of angle B.
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Example 2: In triangle ABC, side a=8 cm, side ¢ =10 cm, and A = 34°. Find angle C.
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Example 3: In triangle ABC, side a = 14 cm, side b =17 cm, and A = 54°. Find the measure of all missing sides

and angles.
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